W e R (k)

20244 7 1 HIgA (160t3%

BRI A B (RlE) T AT A e BE A S 83
gﬁ*;*féfgﬁww‘ﬁ%“ HRZE ) 5 A T 176 0 1 0
EFRENAR S EAR BT FiFRH 236 0 0 236
BEFRIE ALK P2 520 FiFRH 230 0 0 174
SNHVEZERRE Z L iR 125 0 0 75
T RIRE FiRH 412 128 284 0
EFAH B aE S & IR FiEH 441 210 184 0
< B I2gEbE iR 79 0 0 79
BERRE AL = B2 #BIR b =H™ 505 0 55 205
ASTATBORE N E ST AR 22 )1 9755t =HM 300 0 80 120
TR TIRBE =Hm 308 6 223 0
EFRENAME )RR =H™ 94 0 55 0
R 7 R 2 A IR E FRBEN 804 804 0 0
AR | SRR AR S R A S (MBI [R5 e FREEH 350 6 299 0
BEFRIE N =2 B A e FREEH 202 0 0 202
[E=) YN BN EE PN ] KELET 312 8 136 0

T 7 R s At (i) 4574 1162 1358 1091




THIFE S Opbe)

20254F 7 1 AREA (155Ea%)

BEIRHBAA B (pile) HEAS EERTE | A 1841 BT E IR Bt A%
gﬁg%g%ﬁfﬁ%ﬂt%ﬁi%i% WA SR 2 . 176 0 1 0 o o
EFRE AR S SR Bl R 41 236 0 0 236 0 0
PEFRE ALK B2 TR+ 220 R 4] 174 0 0 174 0 0
SRR A E XL FEH 125 0 0 75 0 0
SRR R 41 412 128 284 0 0 0
HFABBIFMHEER S FHEILFHRRE FiRH 401 220 181 0 0 0
< BTk R 4] 79 0 0 79 0 0
PEFRE NFER =3y EE IR IR =HM 505 0 55 205 0 0
ASEAT B N SRR R 22 )1 e =HM 300 0 80 120 50 0
ZIFARA-FRBE =HM 308 6 223 0 32 0
BEFRENTE ARG =HM 94 0 55 0 0 0
SRR [ A A R i e FBE 804 804 0 0 0 0
E;%J\[EEE%%%E%H%E%% LR 955 JEp— 350 6 209 0 o o
BEFRENFER = JFe PR B e RE FBRT 202 0 0 202 0 0
PRI N YN 22 R K e e KHYET 312 30 282 0 0 0

THIFE VG Ak (i) 4478 1194 1501 1091 82 0




W e R (29T

20244 7 4 1 HIgA (11t R%

BERRHBIA TR (pe) T XHTAS 7 e BE A S EG-2 PR FEB T E PELE T E
BERENAL s ERYEZ Y =y s B3 19 0 0 19 0 0 0
PRIV AL B K 2 i PR P AR FiFH 16 0 16 0 0 0 0
INEKRPERRARLZ U = 7 FiEH 12 0 12 0 0 0 0
BERRE AR S AR ERE FiRH 13 0 13 0 0 0 0
LoZLrY=v7 iR 8 0 8 0 0 0 0
VEDLY LT 4 —R&~HF=T 47 V=7 FiEH 15 0 15 0 0 0 0
N2V = =T 8 0 8 0 0 0 0
TITNT )=y =HM 13 0 13 0 0 0 0
E%%Jﬂm’ UR=R RFIT 4 AR FeEs 19 0 19 0 0 0 0
BRELVFA—A7 )=y FBRT 9 0 9 0 0 0 0
EFRE NS s Y = s FRBEN 19 0 0 0 19 0 0

TP P R e (RS9 ) 151 0 113 19 19 0 0




THIRE S (o)

20254E 7 1 AREA (11HER%)

BEIRHBAA B (pile) HEAS eI 441 IR Bt A%
EFENAEE e RRFERI )=y s IR 19 19 0
[ i v N R B K < 17 P PE S AR FiEH 16 0 0
INERERAR 2 ) =y 7 IR 12 0 0
BERRE AL DS (IARIRR =B iR 13 0 0
LI V=v2 FiEH 8 0 0
VEDLY LT 4 —AKVE=T 47 V=) IR 15 0 0
BNV =v 2 =HM 8 0 0
TITXNT )=y =W 13 0 0
E%%?f)\774"//<——7\ RFleT 4 AT GeEm 19 0 0
BREVT A=A U=y FBRS 9 0 0
FEFRE NGBS W ) =y 2 i eu 19 0 0

T VG P e (R 95T 151 19 0




